Calcular Porcientos (E)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.390 € es
139 €7

- ¢Qué porciento de 9.020 € es
1.353 €7

. ¢Qué porciento de 6.064 € es
1.516 €7

- ¢Qué porciento de 9.190 € es
2.757 €7

. ¢Qué porciento de 6.640 € es
5.644 €7

10.

;Qué porciento de 4.920 € es
4.182 €7

;Qué porciento de 6.700 € es
3.015 €?

;Qué porciento de 3.700 € es
1.110 €?

;Qué porciento de 6.000 € es
5.700 €7

;Qué porciento de 9.450 € es
5.670 €7
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Calcular Porcientos (E) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 1.390 € es
139 €7
10%

- ¢Qué porciento de 9.020 € es
1.353 €7
15%

. ¢Qué porciento de 6.064 € es
1.516 €7
25%

- ¢Qué porciento de 9.190 € es
2.757 €7
30%

. ¢Qué porciento de 6.640 € es
5.644 €7
85%

10.

;Qué porciento de 4.920 € es
4.182 €7
85%

;Qué porciento de 6.700 € es
3.015 €?
45%

;Qué porciento de 3.700 € es
1.110 €?
30%

;Qué porciento de 6.000 € es
5.700 €7
95%

;Qué porciento de 9.450 € es
5.670 €7
60%
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